Puig

PHB19 FRONT-AXLE SLIDERS ADAPTABLE TO:
HONDA CB 650F 14'-19'

HONDA CBR 650F 14'-19'

REF: 20031N

MOUNTING INSTRUCTIONS

Remove the original fastener from the right side of the fork.

Place the fastener (7) whit the washer (6) on the right side of the fork

Place the rod whit the washer (5) along with the slider (1) from the set supplied.
Once the step (C) it is finished, place the rod (3) through the axle from the right side.
Mount the slider (2), fastening the set with the washer (5) and nut (4).

Place the caps (6)

mmUnw>

Material supplied:

DENOMINACION CANTIDAD
Right Slider 1

Left Slider

Rod

M6 nut DIN985

M6 washers DIN125
M6 washers DIN125
M14x20 screw DIN933
Caps

N[RN[R -

N[O |0 |_|W[N|F

P TIGHTEN NUT M6 WITH A TORQUE OF 9,7Nn

Ref. 20025

- i
=% i
‘ ] Pre——

& B [
fo= 4 il 1y m— Lﬁ i
Sles » 14

=

oo
A

Learn more about motorcycle guards and protection we have.


https://www.motorcycleid.com/guards-protection.html
https://www.motorcycleid.com/puig/



